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search groupsbrm

goodhlth    Has good health? 
diabetes    Has diabetes? 
white       Is white? 
age         Age 
active      Is physically active? 
obese       Is obese? 
female      Is female? 
highschool  Has high school degree? 
married     Is married? 
ihsincome   Inverse hyperbolic sine of income 

                White (N=12,427)    Nonwhite (N=3,799)     
                ------------------  ------------------    Difference 
                          Std                 Std        --------------- 
Variable        Mean      Dev       Mean      Dev         Mean    p 
------------------------------------------------------------------------ 
goodhlth        0.769     ——        0.565      ——         0.205    <.001 
diabetes        0.162     ——        0.281      ——        -0.120    <.001 
age            66.514    10.421    64.099      9.677      2.415    <.001 
active          0.303     ——        0.223      ——         0.080    <.001 
obese           0.286     ——        0.390      ——        -0.104    <.001 
female          0.532     ——        0.575      ——        -0.043    <.001 
highschool      0.853     ——        0.563      ——         0.289    <.001 
married         0.692     ——        0.541      ——         0.150    <.001 
ihsincome       4.523     1.001     3.809      1.164      0.714    <.001 
------------------------------------------------------------------------ 
Note: Mean is group difference in the means.  

 
Logit model for good health (N =16,226). 
 
              White                   Nonwhite                  H0: w = n 
Variable      1: w   2: ORw  4: p    5: n    6: ORn  8: p     9: F   10: p 
---------------------------------------------------------------------------- 
Constant     -0.488    ——     0.086   -1.541    ——     <.001    4.71   0.034 
female        0.144    1.155  0.006   -0.118    0.888  0.176    6.96   0.011 
highschool    0.800    2.225  <.001    0.816    2.262  <.001    0.02   0.891 
married      -0.056    0.945  0.341   -0.169    0.844  0.124    0.70   0.406 
ihsincome     0.556    1.744  <.001    0.583    1.792  <.001    0.16   0.695 
age          -0.018    0.982  <.001   -0.008    0.992  0.072    3.47   0.068 
obese        -0.573    0.564  <.001   -0.361    0.697  0.002    3.10   0.084 
---------------------------------------------------------------------------- 
Note: OR is the odds ratio; tests of H0: w = n are for didactic purposes. 

 
Logit model for diabetes (N =16,226). 
 
              White                    Nonwhite                 H0: w = n 
Variable      1: w   2: ORw  4: p     5: n   6: ORn  8: p     9: F   10: p 
----------------------------------------------------------------------------- 
Constant     -9.627   ——      <.001   -11.169   ——      <.001    0.40   0.529 
female       -0.400   0.670   <.001    -0.079   0.924   0.427    7.27   0.009 
highschool   -0.253   0.776   0.001    -0.142   0.867   0.160    0.92   0.342 
married       0.070   1.073   0.333     0.064   1.066   0.548    0.00   0.960 
ihsincome    -0.189   0.828   <.001    -0.131   0.877   <.001    1.61   0.210 
age           0.243   1.274   <.001     0.299   1.348   <.001    0.65   0.422 
agesq        -0.002   0.998   <.001    -0.002   0.998   <.001    0.78   0.382 
active       -4.048   0.017   0.302    -2.557   0.078   0.678    0.04   0.849 
activeXage    0.115   1.122   0.331     0.052   1.053   0.783    0.07   0.791 
activeXagesq  -.0009  0.999   0.310     -.0003  1.000   0.835    0.11   0.737 
obese         1.163   3.199   <.001     0.740   2.095   <.001    9.35   0.003 
----------------------------------------------------------------------------- 
Note: OR is the odds ratio; tests of H0: w = n are for didactic purposes. 

Panel A: Average discrete change for logit model for diabetes (N=16,226). 
 
             White              Nonwhite            Difference 
  Variable   1: ADC    2: p     3: ADC    4: p      5: ADC   6: p 
-------------------------------------------------------------------- 
    female   -0.051    <0.001   -0.015     0.431    -0.036   0.089 
highschool   -0.033     0.001   -0.027     0.160    -0.006   0.763 
   married    0.009     0.330    0.012     0.546    -0.003   0.875 
 ihsincome   -0.022    <0.001   -0.024    <0.001     0.002   0.779 
       age    0.011    <0.001    0.027    <0.001    -0.016   0.002 
    active   -0.053    <0.001   -0.084    <0.001     0.031   0.110 
     obese    0.169    <0.001    0.146    <0.001     0.022   0.408 
-------------------------------------------------------------------- 
Note: The effect of age is for a five-year change. 

Panel B: DCM for logit model for diabetes (N=16,226). 
 
             White              Nonwhite            Difference 
  Variable   1: DCM    2: p     3: ADC    4: p      5: ADC   6: p 
-------------------------------------------------------------------- 
    female   -0.057    <0.001   -0.016     0.431    -0.041   0.070 
highschool   -0.038     0.001   -0.029     0.162    -0.008   0.716 
   married    0.010     0.328    0.013     0.545    -0.003   0.895 
 ihsincome   -0.025    <0.001   -0.026    <0.001     0.001   0.916 
       age    0.014    <0.001    0.023    <0.001    -0.009   0.169 
    active   -0.049    <0.001   -0.083     0.006     0.034   0.319 
     obese    0.190    <0.001    0.158    <0.001     0.032   0.264 
-------------------------------------------------------------------- 
Note: The effect of age is for a five-year change. 



o

 
Change over range of age 
                          |   lincom    pvalue        ll        ul  
--------------------------+---------------------------------------- 
        #1 DCage if white |   -0.133     0.000    -0.176    -0.089  
     #2 DCage if nonwhite |   -0.072     0.077    -0.151     0.008  
 #3 DCage race difference |   -0.061     0.174    -0.150     0.028 
  

c.age c.age#c.age i.active i.active#c.age i.active#c.age#c.ages 



o
o

o
o

o
o

                      Women               Men            Effect of obesity 
                ---------------   ---------------  -------------------------- 
                1: Obese 2: Not   3: Obese 4: Not  5: Women 6: Men  7: Diff 
----------------------------------------------------------------------------- 
     1: White   0.278    0.107    0.365    0.152   0.170*   0.212*  -0.042* 
  2: Nonwhite   0.389    0.233    0.408    0.248   0.156*   0.161*  -0.005 
3: Difference  -0.112*  -0.126*  -0.044   -0.096* -0.014   -0.052†  -0.038* 
----------------------------------------------------------------------------- 
Note: Other variables held at their means.* = p<.01; † = p<.10 for two-tailed test. 

G-gender         Girls Women      Boys Men          Effect of obesity 
O-obesity     ---------------  -------------- -------------------------- 
R-race   1:Obese  2:Thin     3:Obese  4:Thin    5:Girls   6:Boys     7:Diff 
---------------------------------------------------------------------------- 
1: Wht   (wgo)    (wgt)    (wbo)    (wbt)    / O|wg  / O|wb  / OG|w 
2: Non   (ngo)    (ngt)    (wbo)    (nbt)    / O|ng  / O|nb  / OG|n 
3: Dif   / R|go  / R|gt  / R|bo  / R|bo  / OR|g  / OR|b  / OGR 
----------------------------------------------------------------------------- 

R=race    w=white n=nonwhite 
G=gender  b=boy  g=girl 

O=obesity o=obese t=thin 

(RGO):  Prob give R, G and O 

/ R|GO: Race difference given G and O 

/ O|RG: DC(obese) given R and G  
/ OR|G  Race difference in DC(obese) given G 
/ OG|R  Gender difference in DC(obese) given R 
/ OGR  Race diff in gender diff in obesity difference 

female p obese q female p obese q



female p obese q
white

obese q female obese q female obese q
female white white white

female p white r
obese

female p female p white female p white
obese white obese obese

white r female white r female white r
obese female obese obese

k kH

Testing the equality of regression coefficients in models for diabetes 
 
Coefficients constrained to be equal 
  
            Full model      M1: ihsincome   M2: age, active†  M3: obese     
            --------------  --------------  --------------    -------------- 
Variable          p             p             p                p 
---------------------------------------------------------------------------- 
  female    -0.321  0.009   -0.199  0.164   -0.363  0.013     -0.176   0.120 
  obese     0.423   0.003    0.069  0.810    0.530  0.064      0.000‡  1.000‡ 
---------------------------------------------------------------------------- 
Note: Results for the full model are from table 3. Tests from models with  
coefficients constrained to be equal estimated with a location scale model. 
† All coefficients involving age and/or active are constrained to be equal. 
‡ Coefficient for obese are constrained to be equal. 

o
o
o
o

o
o
o

o
o

o
o



logit goodhlth ibn.white /// 

               ibn.white#(i.female … i.obese), nocon 

o ibn
o ibn.white
o ibn.white#(i.female … i.obese)
o nocon

              |             
     goodhlth |      Coef.  
--------------+---------------------------------- 
        white | 
    Nonwhite  |  -1.541056  : Nonwhite intercept  
       White  |  -.4880763  : White intercept 
              | 
 white#female | 
     Nonwhite#| 
      Female  |  -.1183793  : Nonwhite  for female 

White#Female  |   .1437669  : White  for female 
  

o white Nonwhite White
o white#female white female
o Nonwhite#Female

o White#Female

over(white) white
. est restore fullmodel 
. mtable, dydx(female) over(white) post brief dec(4) 
 
Expression: Pr(diabetes), predict() 
 
           |  d Pr(y) 
 ----------+--------- 
  Nonwhite |  -0.0150 
     White |  -0.0506 

mlincom
. qui mlincom (2), rowname(ADC female: White) add clear 
. qui mlincom (1), rowname(ADC female: Nonwhite) add 
. mlincom (2-1), rowname(ADC female: Difference) twidth(25) add 
 
                          |   lincom    pvalue        ll        ul  
--------------------------+---------------------------------------- 
ADC female                |                                         
                    White |   -0.051     0.000    -0.066    -0.036  
                 Nonwhite |   -0.015     0.431    -0.053     0.023  
               Difference |   -0.036     0.089    -0.077     0.006  

at(age=gen(age))

at(age=gen(age+5))
. est restore fullmodel 
. mtable, at(age=gen(age)) at(age=gen(age+5)) over(white) post 
 

                |    Pr(y) 
 ---------------+--------- 
    0.white#c.1 |   0.2811 
    1.white#c.1 |   0.1615 
    0.white#c.2 |   0.3080 
    1.white#c.2 |   0.1729 

. qui mlincom (4-2), rowname(ADC age+5: White) clear 

. qui mlincom (3-1), rowname(ADC age+5: Nonwhite) add 

. mlincom (4-2) - (3-1), /// 
>         rowname(ADC age+5: Difference) twidth(25) add 
 

                          |   lincom    pvalue        ll        ul  
--------------------------+---------------------------------------- 
ADC age+5                 |                                         
                    White |    0.011     0.000     0.008     0.015  
                 Nonwhite |    0.027     0.000     0.018     0.036  
               Difference |   -0.016     0.002    -0.025    -0.006  

. est restore fullmodel 

. mtable, dydx(female) post at((omeans) _all white=(0 1)) 
 
Expression: Pr(diabetes), predict() 
 
           |    white   d Pr(y) 
 ----------+------------------- 
         1 |        0   -0.0160 
         2 |        1   -0.0573 
 
Specified values of covariates 
 
           |        1.            1.         1.                             1. 
           |   female      highsc~l    married   ihsinc~e       age    active  
 ----------+------------------------------------------------------------------ 
   Current |    .5392          .805      .6667      4.405     66.11       .29  
 
. qui mlincom (2),   rowname(DCM female: White)       add clear 
. qui mlincom (1),   rowname(DCM female: Nonwhite)    add 
. mlincom (2-1), rowname(DCM female: Difference)  add 

 

. svy: mean age // compute start and end for age 
  
             |       Mean   Std. Err.     [95% Conf. Interval] 
-------------+------------------------------------------------ 
         age |   66.11455   .1723443       65.7693     66.4598 
 
. global ageST = _b[age] // mean 
. global ageEN = _b[age] + 5 // mean + 5 

(omeans) _all
. mtable, at((omeans) _all age=($ageST $ageEN) white=(0 1)) post dec(4) 
 
Expression: Pr(diabetes), predict() 
 
           |    white       age     Pr(y) 
 ----------+----------------------------- 
         1 |        0     66.11    0.2832 
         2 |        0     71.11    0.3063 
         3 |        1     66.11    0.1706 
         4 |        1     71.11    0.1849 
 
Specified values of covariates 
 



. qui mlincom (4-3),     rowname(DCM age+5: White)      add 

. qui mlincom (2-1),     rowname(DCM age+5: Nonwhite)   add 

. mlincom (4-3) - (2-1), rowname(DCM age+5: Difference) add 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
DCM age+5    |                                         
       White |    0.014     0.000     0.009     0.019  
    Nonwhite |    0.023     0.000     0.011     0.035  
  Difference |   -0.009     0.169    -0.021     0.004  

mgen, at(white=1 age=(50(5)90)) atmeans stub(AprW) /// 
    predlabel(White) replace  // probabilities for whites 
 
mgen, at(white=0 age=(50(5)90)) atmeans stub(AprN) /// 
    predlabel(Nonwhite) replace   // probabilities for nonwhites 
 
// plot probabilities  
twoway /// 
    (connected  AprWpr1  AprWage,  $LINwht)  /// 
    (connected  AprNpr1  AprWage,  $LINnon)  /// 
    (scatter    AprWpr1  AprWage,  $LINwht)  /// 
    (scatter    AprNpr1  AprWage,  $LINnon), /// 
    ytitle(Pr(Good health)) xtitle(Age) /// 
    xlab(50(10)90) ylab(.5(.1)1, gmin gmax grid) /// 
    yline(1, lcol(black) lwid(*.6)) legend(rows(1) order(4 3)) /// 
    scale(1.2) 

 

mgen, dydx(white) at(age=(50(5)90)) atmeans stub(Adc) /// 
    predlabel(DC) replace // DCrace 
label var Adcll1 "95% confidence interval" 
label var Adcul1 "95% confidence interval" 
 
 
* to reverse directory of DC 
gen RAdcd_pr1  = -1 * Adcd_pr1 
gen RAdcll1    = -1 * Adcll1 
gen RAdcul1    = -1 * Adcul1 
label var Adcll1 "95% confidence interval" 
 
twoway  /// 
    (connected  Adcd_pr1      Adcage,  $LINdc)  /// line 
    (connected  Adcll1 Adcul1 Adcage,  $LINci)  /// ci 
    (scatter    Adcd_pr1      Adcage,  $LINdc), /// line 
    ytitle("Pr(Good Health | White)" "- Pr(Good Health | Nonwhite)") /// 
        xtitle(Age) xlab(50(10)90) ylab(-.1(.1).2, grid) /// 
        yline(-.1 .2, lcol(black*.2) lwid(*.7)) /// 
        legend(pos(6) ring(1) cols(1) order(3) symxsize(7)) /// 
        scale(1.2) /// 
        yline(0, lcol(black) lwid(*.6)) 

. mtable, at(age=(50 90) white=(0 1)) atmeans post 
 
Expression: Pr(goodhlth), predict() 
 
           |    white       age     Pr(y) 
 ----------+----------------------------- 
         1 |        0        50     0.727 
         2 |        0        90     0.655 
         3 |        1        50     0.825 
         4 |        1        90     0.692 
 
. qui mlincom (4-3),   rowname(#1 DCage if white) clear 
. qui mlincom (2-1),   rowname(#2 DCage if nonwhite) add 
. mlincom (4-3)-(2-1), rowname(#3 DCage race difference) add 

                      Women               Men            Effect of obesity 
                ---------------   ---------------  -------------------------- 
                1: Obese 2: Not   3: Obese 4: Not  5: Women 6: Men  7: Diff 
----------------------------------------------------------------------------- 
     1: White   0.278    0.107    0.365    0.152   0.170*   0.212*  -0.042* 
  2: Nonwhite   0.389    0.233    0.408    0.248   0.156*   0.161*  -0.005 
3: Difference  -0.112*  -0.126*  -0.044   -0.096* -0.014   -0.052†  -0.038* 
----------------------------------------------------------------------------- 
Note: Other variables held at their means.*=p<.01; †=p<.10 for two-tailed test. 

o
o
o
o

female p obese q female p obese q
  

. //  #3.1 Pr(diabetes | female, obese, race) 

. //  Table 4 rows 1-2, columns 1-4 
 
. qui est restore fullmodel 
 
. //  Pr(diabetes | female, obese, race) 
 
. mtable, at(white=(0 1) female=(0 1) obese=(0 1)) atmeans stats(est 
pvalue) 
 
Expression: Pr(diabetes), predict() 
 
           |    white    female     obese     Pr(y)         p 
 ----------+------------------------------------------------- 
         1 |        0         0         0     0.248     0.000 
 
         8 |        1         1         1     0.278     0.000 
 
Specified values of covariates 
 
           |            1.         1.                             1. 
           |     highsc~l    married   ihsinc~e       age    active 
 ----------+------------------------------------------------------- 
   Current |         .805       .667       4.41      66.1       .29 

 



. //  #3.2 Race dif by gender and obesity: DC(race | female, obese) 

. //  Table 4 row 3, columns 1-4 
 
. mtable, dydx(white) at(female=(0 1) obese=(0 1)) /// 
>     atmeans stats(est pvalue) post 
 
Expression: Pr(diabetes), predict() 
 
           |   female     obese   d Pr(y)         p 
 ----------+--------------------------------------- 
         1 |        0         0    -0.096     0.000 
 
         4 |        1         1    -0.112     0.000 
 
Specified values of covariates 
 

 

. //  #3.2a Compare DC(race | female, obese) across gender and obesity 

. //  Table 4 row 3, columns 5-6 are from rows 3 and 4 below 
 
. qui mlincom 4-2, rowname(obese    men - obese    women) 
. qui mlincom 3-1, rowname(nonobese men - nonobese women) add 
. qui mlincom 4-3, rowname(women  obese - women nonobese) add 
. qui mlincom 2-1, rowname(men    obese - men   nonobese) add 
. mlincom, twidth(32) title(Second differences in DCobese and DCfemale) 
 
Second differences in DCobese and DCfemale 
 
                                 |   lincom    pvalue        ll        ul  
---------------------------------+--------------------------------------- 
         obese men - obese women |   -0.068     0.019    -0.124    -0.012  
   nonobese men - nonobese women |   -0.030     0.126    -0.070     0.009  
    women obese - women nonobese |    0.014     0.603    -0.041     0.069  
        men obese - men nonobese |    0.052     0.086    -0.008     0.111  

. //  #3.3 DC(obesity | race gender) 

. //  Table 4 rows 1-2, columns 5-6 
 
. qui est restore fullmodel 
. mtable, dydx(obese) at(white=(0 1) female=(0 1)) /// 
>     atmeans stats(est pvalue) post 
 
Expression: Pr(diabetes), predict() 
 
           |    white    female   d Pr(y)         p 
 ----------+--------------------------------------- 
         1 |        0         0     0.161     0.000 
         2 |        0         1     0.156     0.000 
         3 |        1         0     0.212     0.000 
         4 |        1         1     0.170     0.000 
 
Specified values of covariates 
 

. //  3.3a Additional tests: requires Stata 14.2+ due to bug in 14.1 
 
. //  DC of obesity are equal across race and gender 
. test [1.obese]1bn._at = [1.obese]2._at = [1.obese]3._at = [1.obese]4._at 
 
Adjusted Wald test 
 
 ( 1)  [1.obese]1bn._at - [1.obese]2._at = 0 
 ( 2)  [1.obese]1bn._at - [1.obese]3._at = 0 
 ( 3)  [1.obese]1bn._at - [1.obese]4._at = 0 
 
       F(  3,    54) =   12.42 
            Prob > F =    0.0000 
 
. //  Compare DC of obesity for nonwhite men and white women 
. test [1.obese]1bn._at = [1.obese]4._at, accum 
 
Adjusted Wald test 
 
 ( 1)  [1.obese]1bn._at - [1.obese]2._at = 0 
 ( 2)  [1.obese]1bn._at - [1.obese]3._at = 0 
 ( 3)  [1.obese]1bn._at - [1.obese]4._at = 0 
 ( 4)  [1.obese]1bn._at - [1.obese]4._at = 0 
       Constraint 4 dropped 
 
       F(  3,    54) =   12.42 
            Prob > F =    0.0000 

. //  #3.4 Second and third differences to compare effects 

. //  Table 4 rows 1-3, column 7 

.  

. qui mlincom 2-4, rowname(D2race|fem) clear 

. qui mlincom 1-3, rowname(D2race|mal) add 

. qui mlincom 4-3, rowname(D2gndr|wht) add 

. qui mlincom 2-1, rowname(D2gndr|non) add 

. mlincom (4-3)-(2-1), rowname(D3gndrXrace) add 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
  D2race|fem |   -0.014     0.603    -0.069     0.041  
  D2race|mal |   -0.052     0.086    -0.111     0.008  
  D2gndr|wht |   -0.042     0.000    -0.056    -0.028  
  D2gndr|non |   -0.005     0.428    -0.016     0.007  
 D3gndrXrace |   -0.038     0.000    -0.057    -0.019  

o
o

o



Variable       Mean   StdDev  Minimum  Maximum  Label                   
------------------------------------------------------------------------- 
tenure         0.12     0.33     0.00     1.00  Is tenured?             
female         0.38     0.48     0.00     1.00  Scientist is female?    
year           3.86     2.30     1.00    10.00  Years in rank.          
yearsq        20.17    22.15     1.00   100.00  Years in rank squared.  
select         5.00     1.41     1.00     7.00  Selectivity of bachelor's 
articles       7.05     6.58     0.00    73.00  Total number of articles. 
prestige       2.65     0.78     0.65     4.80  Prestige of department. 
presthi        0.05     0.21     0.00     1.00  Prestige is 4 or higher? 
------------------------------------------------------------------------- 
N = 2797 (person-years)  

 

logit (N= 2797): Factor Change in Odds  
 
WOMEN              b         z     P>|z|    e^b    e^bStdX  
----------------------------------------------------------- 
    constant   -5.84198   -6.747   0.000   0.0029   0.0589 
        year    1.40777    5.472   0.000   4.0868  30.1273  
      yearsq   -0.09559   -4.364   0.000   0.9088   0.1857  
      select    0.05513    0.769   0.442   1.0567   1.1534  
 

    articles    0.03395    2.693   0.007   1.0345   1.2181  
    prestige   -0.37079   -2.376   0.017   0.6902   0.6013  
 

 
MEN                b         z     P>|z|    e^b    e^bStdX  
----------------------------------------------------------- 
    constant   -7.68016  -11.271   0.000   0.0005   0.0241 
        year    1.90885    8.915   0.000   6.7454 130.9789  
      yearsq   -0.14322   -7.699   0.000   0.8666   0.0622  
      select    0.21577    3.513   0.000   1.2408   1.7711  
    articles    0.07369    6.367   0.000   1.0765   1.5299  
    prestige   -0.43119   -3.963   0.000   0.6497   0.5418  
 

----------------------------------------------------------- 
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logit y ismodel2 rolesm1 rolesm2, vce(cluster id) 
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o vce(cluster id)



o suest
o gsem

o

o

o

Variable   Unique      Mean  Min  Max  Label 
------------------------------------------------------------------------ 
vhappy          2  .3087023    0    1  Very Happy with Life 
 
college         2  .3390842    0    1  R Has College Degree 
 
wages        2936   17.4244  .1115278   70  Wages 
occprest       62  45.31217        16   86  Occupational Prestige Score 
 
married         2  .4950087     0     1  Currently Married 
parent          2  .6885851     0     1  Parent 
woman           2  .4930556     0     1  Woman R 
conserv         2   .335612     0     1  Conservative R 
reltrad         7  3.650282     1     7  Religous Tradition 
year            9  2008.175  2000  2016  gss year for this respondent 
age            71  42.94477    18    88  age of respondent 
------------------------------------------------------------------------- 
 

Panel A: ADC(college) 
 

                 Model 1:   Model 2:    Model 3:    Model 4: 
                 College    + Controls  + Wages     + Prestige 
 

ADC(college)     0.072***   0.060***    0.036***    0.019 
                (0.010)    (0.011)     (0.011)     (0.012) 
 
Panel B: Cross Model Differences 
 

                 Model 1:   Model 2:    Model 3:    Model 4: 
 

Model 1                     0.012**     0.036***    0.053*** 
                           (0.004)     (0.006)     (0.007) 
 
Model 2          0.012**                0.024***    0.041***  
                (0.004)                (0.004)     (0.006) 
                     
Model 3          0.036***   0.024***                0.017*** 
                (0.006)    (0.004)                 (0.004) 
                   
Model 4          0.053***   0.041***    0.017***        
                (0.007)    (0.006)     (0.004) 
 

Notes:Standard errors in parentheses. *=p .05,  
**=p .01, ***=p .001 for a two-tailed test.  



local controls /// 
    i.married i.parent i.woman i.conserv i.reltrad i.year c.age##c.age  
 
logit vhappy i.college  // M1 
mchange college, stat(est se p) dec(7) 
 
logit vhappy i.college `controls'  // M2 + controls 
mchange college, stat(est se p)  
 
logit vhappy i.college c.wages `controls'  // M3 + wages 
mchange college wages , amount(sd) stat(est se p) 
 
logit vhappy i.college c.wages c.occprest `controls'  // M4 + occprest 
mchange college wages occprest, amount(sd) stat(est se p) 

clonevar  vhappyM1 = vhappy 
lab var   vhappyM1 "M1 vhapppy college only" 
clonevar  vhappyM2 = vhappy 
lab var   vhappyM2 "M2 vhapppy college + controls" 
clonevar  vhappyM3 = vhappy 
lab var   vhappyM3 "M3 vhapppy college + controls + wages" 
clonevar  vhappyM4 = vhappy 
lab var   vhappyM4 "M4 vhapppy college + controls + wages + occprest" 
//  NOTE: vce(robust) needed for correct covariances across models 

gsem (vhappyM1 <- i.college, logit) /// 
     (vhappyM2 <- i.college `controls', logit) /// 
     (vhappyM3 <- i.college c.wages `controls', logit) /// 
     (vhappyM4 <- i.college c.wages c.occprest `controls', logit) /// 
     , vce(robust) 
 
est store gsemmodel 

. margins, dydx(college) post   
 

Average marginal effects                        Number of obs     =      9,216 
 

dy/dx w.r.t. : 1.college 
1._predict   : Predicted mean (M1 vhapppy college only), predict(mu 
               outcome(vhappyM1)) 
2._predict   : Predicted mean (M2 vhapppy college + controls), predict(mu 
               outcome(vhappyM2)) 
3._predict   : Predicted mean (M3 vhapppy college + controls + wages), 
               predict(mu outcome(vhappyM3)) 
4._predict   : Predicted mean (M4 vhapppy college + controls + wages + 
               occprest), predict(mu outcome(vhappyM4)) 
 
             |            Delta-method 
             |      dy/dx   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
0.college    |  (base outcome) 
-------------+---------------------------------------------------------------- 
1.college    | 
    _predict | 
          1  |    .071806   .0103344     6.95   0.000     .0515509    .0920611 
          2  |   .0599197   .0105299     5.69   0.000     .0392813     .080558 
          3  |   .0359563   .0111027     3.24   0.001     .0141954    .0577172 
          4  |   .0191807   .0117766     1.63   0.103     -.003901    .0422625 
------------------------------------------------------------------------------ 
Note: dy/dx for factor levels is the discrete change from the base level. 

qui mlincom 1,   rowname(ADCcollege: M1)      stat(est se p) clear 
qui mlincom 2,   rowname(ADCcollege: M2)      stat(est se p) add 
qui mlincom 1-2, rowname(ADCcollege: M1 - M2) stat(est se p) add 
qui mlincom 1,   rowname(ADCcollege: M1)      stat(est se p) add 
qui mlincom 3,   rowname(ADCcollege: M3)      stat(est se p) add 
qui mlincom 1-3, rowname(ADCcollege: M1 - M3) stat(est se p) add 
qui mlincom 1,   rowname(ADCcollege: M1)      stat(est se p) add 
qui mlincom 4,   rowname(ADCcollege: M4)      stat(est se p) add 
qui mlincom 1-4, rowname(ADCcollege: M1 - M4) stat(est se p) add 
qui mlincom 2,   rowname(ADCcollege: M2)      stat(est se p) add 
qui mlincom 3,   rowname(ADCcollege: M3)      stat(est se p) add 
qui mlincom 2-3, rowname(ADCcollege: M2 - M3) stat(est se p) add 
qui mlincom 2,   rowname(ADCcollege: M2)      stat(est se p) add 
qui mlincom 4,   rowname(ADCcollege: M4)      stat(est se p) add 
qui mlincom 2-4, rowname(ADCcollege: M2 - M4) stat(est se p) add 
qui mlincom 3,   rowname(ADCcollege: M3)      stat(est se p) add  
qui mlincom 4,   rowname(ADCcollege: M4)      stat(est se p) add  
mlincom 3-4, rowname(ADCcollege: M3 - M4)  stat(est se p) add twidth(15) 

 

est restore gsemmodel 
  
qui sum wages 
local sd = r(sd) 
margins, /// 
    predict(outcome(vhappyM3)) predict(outcome(vhappyM4)) /// 
    at(wages=gen(wages)) at(wages=gen(wages + `sd')) post     
 
qui mlincom 3,   rowname(ADCwages: M3)      stat(est se p) clear 
qui mlincom 4,   rowname(ADCwages: M4)      stat(est se p) add  
    mlincom 3-4, rowname(ADCwages: M3 - M4) stat(est se p) add twidth(15) 



o
o

o
o
o

iswrong <- sexident woman college age race year 

iswrong <- sexbehav woman college age race year 

                 Model 1:   Model 2:   
                 Sexual     Sexual     Cross Model   
Orientation      Identity   Behavior   Difference  

Heterosexual     0.531      0.533       0.002   
                                       (0.002)   
 
Bisexual         0.257      0.436       0.179***  
                                       (0.041)   
 
Gay/Lesbian      0.104      0.171       0.067   
                                       (0.040)   

                              Model 1:    Model 2:   
                              Sexual      Sexual      Cross Model   
                              Identity    Behavior    Difference   
 

Heterosexual vs Bisexual     -0.274***   -0.097***    0.177***   
                             (0.041)     (0.023)     (0.043)   
 

Heterosexual vs Gay/Lesbian  -0.428***    -0.362***   0.066   
                             (0.034)     (0.038)     (0.041)   
 

Bisexual vs Gay/Lesbian      -0.265**    -0.153*     -0.111   
                             (0.044)     (0.052)     (0.059)  
----------------------------------------------------------------  
*=p=.05, **=p=.01, ***=p=.001 for a two-tailed test 

 



clonevar samesexBEHAV = samesexB // 1=is wrong; 0=not wrong 
clonevar samesexIDENT = samesexB 
 
gsem (samesexBEHAV <- i.sexbehav i.woman i.college c.age /// model 2 
                      i.race i.year, logit) ///  
     (samesexIDENT <- i.sexident i.woman i.college c.age /// model 1 
                      i.race i.year, logit), /// 
     vce(robust) 
         
est store gsemmodel 

// model using behavior 
est restore gsemmodel 
margins, predict(outcome(samesexBEHAV)) at(sexbehav=(1 2 3)) post 
est store probbehav 
// model using identity 
est restore gsemmodel 
margins, predict(outcome(samesexIDENT)) at(sexident=(1 2 3)) post 
est store probident 
 
local labopt "labsize(*1.1) glwidth(*1.4) glcol(black*.7)" 
 
coefplot (probident, color(red*.8)) (probbehav, color(black)), /// 
    vertical recast(bar) barw(0.3) /// 
    ciopts(recast(rcap) color(gs8)) citop /// 
    legend(order(1 "Identity" 3 "Behavior")) /// 
    xlab(1 "Heterosexual" 2 "Bisexual" 3 "Gay/Lesbian", noticks) /// 
    ytitle("Pr(Same-Sex Relationships Wrong)",size(*.85)) /// 
    ylab(0(0.1).6, `labopt') /// 
    scale(1.3) /// larger text 
    xscale(noline) plotregion(style(none)) // turn off x axis line 

est restore gsemmodel     
margins, at(sexident=(1 2 3)) at(sexbehav=(1 2 3)) post 
qui { 
mlincom 7,   rowname("Hetero: Ident") stat(est se p) clear  
mlincom 4,   rowname("Hetero: Behav") stat(est se p) add 
mlincom 4-7, rowname("Hetero: Difference") stat(est se p) add 
mlincom 8,   rowname("Bisexual: Ident") stat(est se p) add 
mlincom 5,   rowname("Bisexual: Behav") stat(est se p) add 
mlincom 5-8, rowname("Bisexual: Difference") stat(est se p) add 
mlincom 9,   rowname("Gay: Ident") stat(est se p) add 
mlincom 6,   rowname("Gay: Behav") stat(est se p) add 
mlincom 6-9, rowname("Gay: Difference") stat(est se p) add 
} 
mlincom, twidth(20) title("Differences in Probabilities Across Models") 

 

est restore gsemmodel     
margins, dydx(sexident sexbehav) post         
qui { 
mlincom 3,   rowname("Het vs Bi: Ident") stat(est se p) clear 
mlincom 1,   rowname("Het vs Bi: Behav") stat(est se p) add 
mlincom 1-3, rowname("Het vs Bi: Difference") stat(est se p) add 
mlincom 4,   rowname("Het vs Gay: Ident") stat(est se p) add 
mlincom 2,   rowname("Het vs Gay: Behav") stat(est se p) add 
mlincom 2-4, rowname("Het vs Gay: Difference") stat(est se p) add 
mlincom 1-2, rowname("Bi vs Gay: Ident") stat(est se p) add 
mlincom 3-4, rowname("Bi vs Gay: Behav") stat(est se p) add 
mlincom (3-4)-(1-2), rowname("Bi vs Gay: Difference") stat(est se p) add 
}         
mlincom, twidth(20) /// 
    title("AMEs for Sexual Orientation Within and Across Models") 

 

o

o
o

Variable  Unique      Mean    Min       Max  Label 
------------------------------------------------------------------------- 
mntlhlth     27  3.480245      0        30  days of poor mental health... 
physhlth     28  2.535559      0        30  days of poor physical heal... 
woman         2  .5132359      0         1  Woman R 
married       2  .4849862      0         1  Currently Married 
age          69  42.46602     18        88  age of respondent 
faminc       98  39.06672  .2365  144.5027  Family Income in 1000s 
race          3  1.327143      1         3  race of respondent 
college       2  .3231924      0         1  R Has College Degree 
parent        2  .6851047      0         1  Parent 
reltrad       7   3.62663      1         7  Religious Tradition 
------------------------------------------------------------------------- 

mntlhlth <- woman married age faminc race college parent year 

physhlth <- woman married age faminc race college parent year 



 

ADC on Days Reporting Poor Health  
 
                  Poor Mental   Poor Physical  Cross Model   
                  Health Days   Health Days    Difference  
----------------------------------------------------------  
Woman              0.993***      0.773***       0.220   
Married           -1.010***     -0.159         -0.851**  
Parent             0.274        -0.269          0.543*   
Age               -0.462***      0.491***      -0.953***   
Family Income     -0.445***     -0.381***      -0.064   
College           -0.879***     -0.542**       -0.337   
Black vs White    -1.016***     -0.531*        -0.485   
Other vs White    -0.438        0.145          -0.583   
Other vs Black    0.578         0.676          -0.098  
----------------------------------------------------------  
*=p= .05, **=p=.01, ***=p=.001 for a two-tailed test. 

 

gsem (mntlhlth <- i.woman i.married c.age faminc /// 
                  i.race i.college i.parent i.year, nbreg) /// 
     (physhlth <- i.woman i.married c.age faminc /// 
                  i.race i.college i.parent i.year, nbreg), vce(robust) 
est store gsemmodel 

mlincom, clear 
foreach var in woman married college parent { 
    est restore gsemmodel 
    margins, dydx(`var') post         
    qui mlincom 1,   rowname(`var':MentHlth) stat(est se p) add 
    qui mlincom 2,   rowname(`var':PhysHlth) stat(est se p) add 
    qui mlincom 1-2, rowname(`var':Difference) stat(est se p) add 
} 

 

foreach var in age faminc { 
    est restore gsemmodel 
    qui sum `var' 
    margins, at(`var'=gen(`var')) at(`var'=gen(`var' + `r(sd)')) post     
    qui mlincom 2-1, rowname(`var':MentHlth) stat(est se p) add 
    qui mlincom 4-3, rowname(`var':PhysHlth) stat(est se p) add 
    qui mlincom (2-1)-(4-3), rowname(`var':Difference) stat(est se p) add  
} 

est restore gsemmodel 
margins i.race, post  
qui { 
  mlincom 2-1, rowname(blackVwhite:MentHlth) stat(est se p) add 
  mlincom 5-4, rowname(blackVwhite:PhysHlth) stat(est se p) add 
  mlincom (2-1)-(5-4), rowname(blackVwhite:Difference) stat(est se p) add 
 
  mlincom 3-1, rowname(otherVwhite:MentHlth) stat(est se p) add 
  mlincom 6-4, rowname(otherVwhite:PhysHlth) stat(est se p) add 
  mlincom (3-1)-(6-4), rowname(otherVwhite:Difference) stat(est se p) add 
 
  mlincom 3-2, rowname(otherVblack:MentHlth) stat(est se p) add 
  mlincom 6-5, rowname(otherVblack:PhysHlth) stat(est se p) add 
  mlincom (3-2)-(6-5), rowname(otherVblack:Difference) stat(est se p) add 
} 
mlincom, twidth(20) /// 
  title(AMEs for mental and physical health and cross model differences)     

o
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o
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  Education            |        b       z   P>|z|     e^b  e^bStdX 
  ---------------------+------------------------------------------ 
  2Skilled vs 1Labor   |   0.1711   2.900   0.004   1.187    1.655 
  3Prof    vs 1Labor   |   0.7433   8.773   0.000   2.103    8.936 

  Education            |        b       z   P>|z|     e^b  e^bStdX 
  ---------------------+------------------------------------------ 
  1Labor   vs 2Skilled |  -0.1711  -2.900   0.004   0.843    0.604 
  3Prof    vs 2Skilled |   0.5722   7.651   0.000   1.772    5.398 

  Education            |        b       z   P>|z|     e^b  e^bStdX 
  ---------------------+------------------------------------------ 
  1Labor   vs 3Prof    |  -0.7433  -8.773   0.000   0.476    0.112 
  2Skilled vs 3Prof    |  -0.5722  -7.651   0.000   0.564    0.185 

occlsp

labrskil

profskil

labrprof

. logit labrskil ed 
 
  Odds of: 1Labor vs 0Skilled (N=225) 
 
    labrskil |      b         z     P>|z|    e^b    e^bStdX      SDofX 
-------------+-------------------------------------------------------- 
          ed |  -0.18398   -2.989   0.003   0.8320   0.6485     2.3536 
 
. logit profskil ed 
 
  Odds of: 1Prof vs 0Skilled (N=237) 
 
    profskil |      b         z     P>|z|    e^b    e^bStdX      SDofX 
-------------+-------------------------------------------------------- 
          ed |   0.56026    7.186   0.000   1.7511   4.9101     2.8403 
 
. logit labrprof ed 
 
  Odds of: 1Labor vs 0Prof (N=212) 
 
    labrprof |      b         z     P>|z|    e^b    e^bStdX      SDofX 
-------------+-------------------------------------------------------- 
          ed |  -0.69037   -7.115   0.000   0.5014   0.1065     3.2443 



. mlogit occlsp ed  
 
mlogit (N=337): Factor Change in the Odds of occlsp  
 
Variable: ed (sd=2.9464271) 
 
Odds comparing    | 
Alternative 1     | 
to Alternative 2  |      b         z     P>|z|  
------------------+---------------------------- 
1Labor vs 2Skilled|  -0.1711   -2.900   0.004  
1Labor vs 3Prof   |  -0.7433   -8.773   0.000  
3Prof  vs 2Skilled|   0.5722    7.651   0.000  
----------------------------------------------- 

                  |      b         z     P>|z|  
------------------+---------------------------- 
         labrskil |  -0.1840   -2.989   0.003
         labrprof |  -0.6904   -7.115   0.000 

 profskil |   0.5603    7.186   0.000 
-----------------------------------------------  

o
o

o

o

o

o

o

o

o
o
o

occ    Occupation 
white  Race: 1=white 0=nonwhite 
ed     Years of education 
exper  Years of work experience 
 
-> tabulation of occ 
 
 Occupation |      Freq.     Percent        Cum. 
------------+----------------------------------- 
     Menial |         31        9.20        9.20 
    BlueCol |         69       20.47       29.67 
      Craft |         84       24.93       54.60 
   WhiteCol |         41       12.17       66.77 
       Prof |        112       33.23      100.00 
------------+----------------------------------- 
      Total |        337      100.00 
 
. sum white ed exper 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
       white |       337    .9169139    .2764227          0          1 
          ed |       337    13.09496    2.946427          3         20 
       exper |       337    20.50148    13.95936          2         66 



mlogit base( )

. mlogit occ i.white ed exper, base(1) nolog 
 
Multinomial logistic regression                   Number of obs   =        337 
                                                  LR chi2(12)     =     166.09 
                                                  Prob > chi2     =     0.0000 
Log likelihood = -426.80048                       Pseudo R2       =     0.1629 
 
         occ |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
Menial       |  (base outcome) 
-------------+---------------------------------------------------------------- 
BlueCol      | 
     1.white |   1.236504   .7244352     1.71   0.088    -.1833631    2.656371 
          ed |  -.0994247   .1022812    -0.97   0.331    -.2998922    .1010428 
       exper |   .0047212   .0173984     0.27   0.786    -.0293789    .0388214 
       _cons |   .7412336    1.51954     0.49   0.626     -2.23701    3.719477 
-------------+---------------------------------------------------------------- 
Craft        | 
     1.white |   .4723436   .6043097     0.78   0.434    -.7120817    1.656769 
          ed |   .0938154    .097555     0.96   0.336    -.0973888    .2850197 
       exper |   .0276838   .0166737     1.66   0.097     -.004996    .0603636 
       _cons |  -1.091353   1.450218    -0.75   0.452    -3.933728    1.751022 
-------------+---------------------------------------------------------------- 

WhiteCol     | 
     1.white |   1.571385   .9027216     1.74   0.082    -.1979166    3.340687 
          ed |   .3531577   .1172786     3.01   0.003     .1232959    .5830194 
       exper |   .0345959   .0188294     1.84   0.066     -.002309    .0715007 
       _cons |  -6.238608   1.899094    -3.29   0.001    -9.960764   -2.516453 
-------------+---------------------------------------------------------------- 
Prof         | 
     1.white |   1.774306   .7550543     2.35   0.019     .2944273    3.254186 
          ed |   .7788519   .1146293     6.79   0.000     .5541826    1.003521 
       exper |   .0356509    .018037     1.98   0.048      .000299    .0710028 
       _cons |  -11.51833   1.849356    -6.23   0.000      -15.143   -7.893659 
------------------------------------------------------------------------------ 

Constant WHITE ED EXP
B M

z
C M

z
W M

z
P M

z

B M i B M B M B M B M

C M i C M C M C M C M

W M i W M W M W M W M

P M i P M P M P M P M

WHITE ED EXP

WHITE ED EXP

WHITE ED EXP

WHITE ED EXP

                         e^b    P>|z|  
WhiteCol vs BlueCol   1.3978    0.720  
Prof     vs BlueCol   1.7122    0.501  
Craft    vs BlueCol   0.4657    0.227  
Menial   vs BlueCol   0.2904    0.088  

                         e^b    P>|z|  
Prof     vs WhiteCol  1.2250    0.815  
BlueCol  vs WhiteCol  0.7154    0.720  
Craft    vs WhiteCol  0.3332    0.179  
Menial   vs WhiteCol  0.2078    0.082 

                         e^b    P>|z|  
BlueCol  vs Craft     2.1472    0.227  
WhiteCol vs Craft     3.0013    0.179  
Prof     vs Craft     3.6765    0.044  
Menial   vs Craft     0.6235    0.434  

                         e^b    P>|z|  
Craft    vs Menial    1.6037    0.434  
BlueCol  vs Menial    3.4436    0.088  
WhiteCol vs Menial    4.8133    0.082  
Prof     vs Menial    5.8962    0.019  

                         e^b    P>|z|  
WhiteCol vs Prof      0.8163    0.815  
BlueCol  vs Prof      0.5840    0.501  
Craft    vs Prof      0.2720    0.044  
Menial   vs Prof      0.1696    0.019  



mlogit (N=337): Factor change in the odds of occ 
 
Variable: 1.white (sd=0.276) 
-------------------------------------------------------------------- 
                         |       b        z    P>|z|     e^b e^bStdX 
-------------------------+------------------------------------------ 
Menial       vs BlueCol  | -1.2365   -1.707    0.088   0.290   0.710 
Menial       vs Craft    | -0.4723   -0.782    0.434   0.624   0.878 
Menial       vs WhiteCol | -1.5714   -1.741    0.082   0.208   0.648 
Menial       vs Prof     | -1.7743   -2.350    0.019   0.170   0.612 
BlueCol      vs Menial   |  1.2365    1.707    0.088   3.444   1.407 
BlueCol      vs Craft    |  0.7642    1.208    0.227   2.147   1.235 
BlueCol      vs WhiteCol | -0.3349   -0.359    0.720   0.715   0.912 
BlueCol      vs Prof     | -0.5378   -0.673    0.501   0.584   0.862 
Craft        vs Menial   |  0.4723    0.782    0.434   1.604   1.139 
Craft        vs BlueCol  | -0.7642   -1.208    0.227   0.466   0.810 
Craft        vs WhiteCol | -1.0990   -1.343    0.179   0.333   0.738 
Craft        vs Prof     | -1.3020   -2.011    0.044   0.272   0.698 
WhiteCol     vs Menial   |  1.5714    1.741    0.082   4.813   1.544 
WhiteCol     vs BlueCol  |  0.3349    0.359    0.720   1.398   1.097 
WhiteCol     vs Craft    |  1.0990    1.343    0.179   3.001   1.355 
WhiteCol     vs Prof     | -0.2029   -0.233    0.815   0.816   0.945 
Prof         vs Menial   |  1.7743    2.350    0.019   5.896   1.633 
Prof         vs BlueCol  |  0.5378    0.673    0.501   1.712   1.160 
Prof         vs Craft    |  1.3020    2.011    0.044   3.677   1.433 
Prof         vs WhiteCol |  0.2029    0.233    0.815   1.225   1.058 
-------------------------------------------------------------------- 

Variable: ed (sd=2.946) 
-------------------------------------------------------------------- 
                         |       b        z    P>|z|     e^b e^bStdX 
-------------------------+------------------------------------------ 
Menial       vs BlueCol  |  0.0994    0.972    0.331   1.105   1.340 
Menial       vs Craft    | -0.0938   -0.962    0.336   0.910   0.758 
Menial       vs WhiteCol | -0.3532   -3.011    0.003   0.702   0.353 
Menial       vs Prof     | -0.7789   -6.795    0.000   0.459   0.101 
BlueCol      vs Menial   | -0.0994   -0.972    0.331   0.905   0.746 
BlueCol      vs Craft    | -0.1932   -2.494    0.013   0.824   0.566 
BlueCol      vs WhiteCol | -0.4526   -4.425    0.000   0.636   0.264 
BlueCol      vs Prof     | -0.8783   -8.735    0.000   0.415   0.075 
Craft        vs Menial   |  0.0938    0.962    0.336   1.098   1.318 
Craft        vs BlueCol  |  0.1932    2.494    0.013   1.213   1.767 
Craft        vs WhiteCol | -0.2593   -2.773    0.006   0.772   0.466 
Craft        vs Prof     | -0.6850   -7.671    0.000   0.504   0.133 
WhiteCol     vs Menial   |  0.3532    3.011    0.003   1.424   2.831 
WhiteCol     vs BlueCol  |  0.4526    4.425    0.000   1.572   3.794 
WhiteCol     vs Craft    |  0.2593    2.773    0.006   1.296   2.147 
WhiteCol     vs Prof     | -0.4257   -4.616    0.000   0.653   0.285 
Prof         vs Menial   |  0.7789    6.795    0.000   2.179   9.923 
Prof         vs BlueCol  |  0.8783    8.735    0.000   2.407  13.300 
Prof         vs Craft    |  0.6850    7.671    0.000   1.984   7.526 
Prof         vs WhiteCol |  0.4257    4.616    0.000   1.531   3.505 
-------------------------------------------------------------------- 

 

Variable: exper (sd=13.959) 
-------------------------------------------------------------------- 
                         |       b        z    P>|z|     e^b e^bStdX 
-------------------------+------------------------------------------ 
Menial       vs BlueCol  | -0.0047   -0.271    0.786   0.995   0.936 
Menial       vs Craft    | -0.0277   -1.660    0.097   0.973   0.679 
Menial       vs WhiteCol | -0.0346   -1.837    0.066   0.966   0.617 
Menial       vs Prof     | -0.0357   -1.977    0.048   0.965   0.608 
BlueCol      vs Menial   |  0.0047    0.271    0.786   1.005   1.068 
BlueCol      vs Craft    | -0.0230   -1.829    0.067   0.977   0.726 
BlueCol      vs WhiteCol | -0.0299   -1.954    0.051   0.971   0.659 
BlueCol      vs Prof     | -0.0309   -2.147    0.032   0.970   0.649 
Craft        vs Menial   |  0.0277    1.660    0.097   1.028   1.472 
Craft        vs BlueCol  |  0.0230    1.829    0.067   1.023   1.378 
Craft        vs WhiteCol | -0.0069   -0.495    0.621   0.993   0.908 
Craft        vs Prof     | -0.0080   -0.627    0.531   0.992   0.895 
WhiteCol     vs Menial   |  0.0346    1.837    0.066   1.035   1.621 
WhiteCol     vs BlueCol  |  0.0299    1.954    0.051   1.030   1.517 
WhiteCol     vs Craft    |  0.0069    0.495    0.621   1.007   1.101 
WhiteCol     vs Prof     | -0.0011   -0.07   3    0.941   0.999   0.985 
Prof         vs Menial   |  0.0357    1.977    0.048   1.036   1.645 
Prof         vs BlueCol  |  0.0309    2.147    0.032   1.031   1.540 
Prof         vs Craft    |  0.0080    0.627    0.531   1.008   1.118 
Prof         vs WhiteCol |  0.0011    0.073    0.941   1.001   1.015 
-------------------------------------------------------------------- 
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. mlogtest, wald  
 

Wald tests for independent variables (N=337) 
 

  Ho: All coefficients associated with given variable(s) are 0 
 

                 |      chi2    df   P>chi2 
-----------------+------------------------- 
         1.white |     8.149     4    0.086 
              ed |    84.968     4    0.000 
           exper |     7.995     4    0.092 
  

. test 1.white // test will work with svy estimates too 

. * 1.white is the variable created from i.white! 
 

 ( 1)  [Menial]o.white = 0         This is white,M|M 
 ( 2)  [BlueCol]white = 0 
 ( 3)  [Craft]white = 0 
 ( 4)  [WhiteCol]white = 0 
 ( 5)  [Prof]white = 0 
       Constraint 1 dropped 
 

           chi2(  4) =    8.15 
         Prob > chi2 =    0.0863 
 
. test ed 
  <snip> 
 
. test exper 
  <snip? 
 

. estimates restore full 
(results full are active now) 
 
. mlogtest, lr 
 
Likelihood-ratio tests for independent variables (N=337) 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
         1.white |     8.095     4    0.088 
              ed |   156.937     4    0.000 
           exper |     8.561     4    0.073 

. quietly mlogit occ white ed exper, base(1) // full model 

. estimates store full 
 

. quietly mlogit occ ed exper, base(1) // restricted model 

. estimates store dropwhite 
 

. lrtest full dropwhite 
 

Likelihood-ratio test                        LR chi2(4)  =      8.10 
(Assumption: dropwhite nested in full)       Prob > chi2 =    0.0881 

P W P W P WH
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. mlogtest, combine 
 

Wald tests for combining alternatives (N=337) 
 

Ho: All coefficients except intercepts associated with a given pair 
    of alternatives are 0 (i.e., alternatives can be combined) 
 

                   |      chi2    df    P>chi2 
-------------------+-------------------------- 
  Menial & BlueCol |     3.994     3    0.262 
    Menial & Craft |     3.203     3    0.361 
 Menial & WhiteCol |    11.951     3    0.008 
     Menial & Prof |    48.190     3    0.000 
   BlueCol & Craft |     8.441     3    0.038 
BlueCol & WhiteCol |    20.055     3    0.000 
    BlueCol & Prof |    76.393     3    0.000 
  Craft & WhiteCol |     8.892     3    0.031 
      Craft & Prof |    60.583     3    0.000 
   WhiteCol & Prof |    22.203     3    0.000 
  

mlogtest, lrcomb
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o

warm
 
                    |      Freq.     Percent    
--------------------+-------------------------- 
1 Strongly Disagree |        297       12.95    
2 Disagree          |        723       31.53    
3 Agree             |        856       37.33    
4 Strongly agree    |        417       18.19    
--------------------+-------------------------- 
              Total |      2,293      100.00 
  

. codebook yr89 male white age prst, compact 
 
Variable    Obs Unique      Mean  Min  Max  Label 
----------------------------------------------------------------------------- 
yr89       2293      2  .3986044    0    1  Survey year: 1=1989 0=1977 
male       2293      2  .4648932    0    1  Gender: 1=male 0=female 
white      2293      2  .8765809    0    1  Race: 1=white 0=not white 
age        2293     72  44.93546   18   89  Age in years 
prst       2293     58  39.58526   12   82  Occupational prestige 
----------------------------------------------------------------------------- 
 
. tab edcat 
 
   Years of | 
  education | 
  in groups |      Freq.     Percent        Cum. 
------------+----------------------------------- 
   0-11 yrs |        670       29.22       29.22 
     12 yrs |        782       34.10       63.32 
  13-15 yrs |        449       19.58       82.90 
  16-20 yrs |        392       17.10      100.00 
------------+----------------------------------- 
      Total |      2,293      100.00  

warm
  mlogit warm i.yr89 i.male i.white age i.edcat prst, base(1) 

  predict SDpr1 Dpr2 Apr3 SApr4 

. mchange, amount(one sd) // no marginal changes 
 
mlogit: Changes in Pr(y) | Number of obs = 2293 
 
Expression: Pr(warm), predict(outcome()) 
 
                        |      1 SD        2 D        3 A       4 SA  
------------------------+-------------------------------------------- 
yr89                    |                                             
           1989 vs 1977 |    -0.095     -0.029      0.079      0.045  
                p-value |     0.000      0.136      0.000      0.006  
male                    |                                             
         Male vs Female |     0.038      0.120     -0.010     -0.148  
                p-value |     0.006      0.000      0.622      0.000  
white                   |                                             
      White vs NonWhite |     0.040      0.018     -0.006     -0.052  
                p-value |     0.036      0.529      0.838      0.038 
  



                        |      1 SD        2 D        3 A       4 SA  
------------------------+-------------------------------------------- 
age                     |                                             
                     +1 |     0.002      0.004     -0.003     -0.003  
                p-value |     0.000      0.000      0.000      0.000  
                    +SD |     0.037      0.059     -0.054     -0.042  
                p-value |     0.000      0.000      0.000      0.000  
edcat                   |                                             
     12 yrs vs 0-11 yrs |    -0.012     -0.004      0.028     -0.012  
                p-value |     0.535      0.880      0.305      0.580  
  13-15 yrs vs 0-11 yrs |    -0.056     -0.042      0.053      0.045  
                p-value |     0.013      0.171      0.104      0.084  
  16-20 yrs vs 0-11 yrs |    -0.090     -0.015      0.050      0.055  
                p-value |     0.000      0.694      0.198      0.093  
    13-15 yrs vs 12 yrs |    -0.044     -0.038      0.025      0.057  
                p-value |     0.029      0.167      0.380      0.011  
    16-20 yrs vs 12 yrs |    -0.078     -0.011      0.022      0.066  
                p-value |     0.000      0.745      0.510      0.017  
 16-20 yrs vs 13-15 yrs |    -0.034      0.028     -0.003      0.009  
                p-value |     0.096      0.415      0.934      0.746  
prst                    |                                             
                     +1 |     0.000     -0.002      0.001      0.001  
                p-value |     0.818      0.011      0.193      0.220  
                    +SD |     0.002     -0.029      0.016      0.012  
                p-value |     0.841      0.009      0.214      0.240 
  

mchange
mchangeplot

mchangeplot yr89 male white age prst, /// regressors to plot 
    min(-.15) max(.15) gap(.05) /// tick marks on axis 
    mcol(red orange green blue) /// colors of symbols 
    title(Average marginal effect, position(11)) /// 
    subtitle(1=SD 2=D 3=A 4=SA) ///  
    sig(.05) /// add * if sig at .05 level 
    aspect(.5) leftmargin(10) // tweak shape of graph  

o
 
. mlogtest, wald 
 

  Ho: All coefficients associated with given variable(s) are 0 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
          1.yr89 |    54.503     3    0.000 
          1.male |   100.836     3    0.000 
         1.white |     7.638     3    0.054 
             age |    86.556     3    0.000 
         2.edcat |     1.241     3    0.743  <= 12    vs 0-11 
         3.edcat |    10.994     3    0.012  <= 13-15 vs 0-11 
         4.edcat |    15.119     3    0.002  <= 16-20 vs 0-11 
            prst |     6.901     3    0.075 



. mlogtest, combine 
 
Wald tests for combining alternatives (N=2293) 
 
 Ho: All coefficients except intercepts associated with a given pair 
     of alternatives are 0 (i.e., alternatives can be combined) 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
      1_SD & 2_D |    38.245     8    0.000 
      1_SD & 3_A |   134.132     8    0.000 
     1_SD & 4_SA |   185.858     8    0.000 
       2_D & 3_A |    95.727     8    0.000 
      2_D & 4_SA |   172.166     8    0.000  
      3_A & 4_SA |    53.660     8    0.000 
  

. use partyid4, clear 
(partyid4.dta | 1992 American National Election Study | 2014-03-12) 
 
. tab party, miss 
 
   Party ID |      Freq.     Percent        Cum. 
------------+----------------------------------- 
D    StrDem |        266       19.25       19.25 
d       Dem |        427       30.90       50.14 
i     Indep |        151       10.93       61.07 
r       Rep |        369       26.70       87.77 
R    StrRep |        169       12.23      100.00 
------------+----------------------------------- 
      Total |      1,382      100.00 
 

party   Party ID 
age     Age 
income  Income in $1,000s 
black   Black? 
female  Female? 
educ    Level of education versus "not hs grad" 
 
. sum party age income black female i.educ 
 
  Variable |       Obs        Mean    Std. Dev.       Min        Max 
-----------+-------------------------------------------------------- 
     party |      1382    2.817656    1.342787          1          5 
       age |      1382    45.94645    16.78311         18         91 
    income |      1382    37.45767    27.78148        1.5     131.25 
     black |      1382    .1374819      .34448          0          1 
    female |      1382    .4934877    .5001386          0          1 
      educ | 
  hs only  |      1382    .5803184    .4936854          0          1 
  college  |      1382    .2590449    .4382689          0          1 

. mlogit party age10 income10 i.black i.female i.educ 

. mlogtest, lr set(educ_set=1.highschool 1.college) 
 
LR tests for independent variables (N=1382) 
 
  Ho: All coefficients associated with given variable(s) are 0 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
           age10 |    45.165     4    0.000 
        income10 |    24.361     4    0.000 
         1.black |   126.467     4    0.000 
        1.female |     9.143     4    0.058 
    1.highschool |     5.567     4    0.234 
       1.college |    21.582     4    0.000 
        educ_set |    26.881     8    0.001 
 
   educ_set contains: 1.highschool 1.college 

o

o
o

o



. mgen, atmeans at(age10=(2(.5)8.5)) stub(MNLMage) 
 

Predictions from: margins, atmeans at(age10=(2(.5)8.5)) predict(outcome(5)) 
 

Variable      Obs Unique      Mean       Min       Max  Label 
------------------------------------------------------------------------------ 
MNLMagepr1     14     14  .2046258  .1047786  .3256354  pr(y=SD) from margins 
MNLMagell1     14     14  .1675598  .0768825  .2487619  95% lower limit 
MNLMageul1     14     14  .2416917  .1326748  .4025089  95% upper limit 
MNLMageage10   14     14      5.25         2       8.5  Age in decades 
MNLMageCpr1    14     14  .2046258  .1047786  .3256354  pr(y<=SD) 
MNLMagepr2     14     14   .329003  .2561781  .3826132  pr(y=D) from margins 
MNLMagell2     14     14  .2874055  .1949605  .3331204  95% lower limit 
MNLMageul2     14     14  .3706006  .3173957   .435444  95% upper limit 
MNLMageCpr2    14     14  .5336288  .4873918  .5818136  pr(y<=D) 
<snip> 
 

Specified values of covariates 
 

                   1.         1.         2.         3. 
 income10      black     female       educ       educ  
------------------------------------------------------ 
 3.745767   .1374819   .4934877   .5803184   .2590449 
 
. mgen, atmeans at(income10=(0(1)10)) stub(MNLMinc) 
 

gen PLTincome = MNLMincincome10*10 
label var PLTincome "Income in $1,000s" 
gen PLTage = MNLMageage10*10 
label var PLTage "Age" 
local yaxis_p "ytitle(Probability of party affiliation)" 
local yaxis_p "`yaxis_p' ylab(0(.1).4, grid) ylin(0 .4, lcol(gs14))" 
local yaxis_c /// 
  "ytitle(Cumulative probability) ylab(0(.2)1, grid) ylin(0 1, lcol(gs14))" 
local titleopt "position(11) size(medium)" 
 
* line options for probabilities 
local line5_opts "msym(O Oh dh sh s)" 
local line5_opts "`line5_opts' lwid(*1.3 *1.3 *1.3 *1.3 *1.3)" 
local line5_opts "`line5_opts' lpat(solid dash shortdash dash solid)" 
local line5_opts "`line5_opts' mcol(red red*.8 black blue*.8 blue)" 
local line5_opts "`line5_opts' lcol(red red*.8 black blue*.8 blue)" 
 
label var MNLMagepr1 "Strong Dem" 
label var MNLMagepr2 "Democrat" 
label var MNLMagepr3 "Independent" 
label var MNLMagepr4 "Republican" 
label var MNLMagepr5 "Strong Rep" 
 
label var MNLMincpr1 "Strong Dem" 
label var MNLMincpr2 "Democrat" 
label var MNLMincpr3 "Independent" 
label var MNLMincpr4 "Republican" 
label var MNLMincpr5 "Strong Rep" 

* probability by age 
graph twoway (connected MNLMagepr1 MNLMagepr2 MNLMagepr3 /// 
    MNLMagepr4 MNLMagepr5 PLTage, `line5_opts'), /// 
    title("`title'", `titleopt') `yaxis_p' `xaxis_age' /// 
    legend(rows(2))  
 
* probability by income 
graph twoway (connected MNLMincpr1 MNLMincpr2 MNLMincpr3 /// 
    MNLMincpr4 MNLMincpr5 PLTincome, `line5_opts'), /// 
    title("`title'", `titleopt') `yaxis_p' `xaxis_inc' /// 
    legend(rows(2))  

. gen party15 = 1 if party==1 

. replace party15 = 0 if party==5 
 
. logit party15 age, nolog 
 
     party15 |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
         age |   .0102276    .005633     1.82   0.069    -.0008129    .0212681  

. mlogit party age, base(5) 
 
       party |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
StrDem       | 
         age |   .0104532   .0056788     1.84   0.066    -.0006771    .0215834 
 
-------------+---------------------------------------------------------------- 
StrRep       |  (base outcome) 
------------------------------------------------------------------------------ 

  



. mlogtest, hausman 
 
Hausman tests of IIA assumption (N=1382) 
 
  Ho: Odds(Outcome-J vs Outcome-K) are independent of other alternatives 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
          StrDem |     4.622    20    1.000 
             Dem |     0.919    21    1.000 
           Indep |    -2.244    19        . 
             Rep |     3.030    21    1.000 
          StrRep |    -0.580    21        . 
 
  Note: A significant test is evidence against Ho. 

o

. mlogtest, smhsiao 
 
Small-Hsiao tests of IIA assumption (N=1382) 
 
  Ho: Odds(Outcome-J vs Outcome-K) are independent of other alternatives 
 
                 | lnL(full)  lnL(omit)       chi2    df   P>chi2 
-----------------+----------------------------------------------- 
          StrDem |  -696.753   -690.654     12.198    21    0.934 
             Dem |  -565.571   -557.488     16.166    21    0.760 
           Indep |  -764.563   -758.290     12.547    21    0.924 
             Rep |  -621.562   -615.492     12.140    21    0.936 
          StrRep |  -761.598   -752.804     17.587    21    0.675 
 
  Note: A significant test is evidence against Ho. 

 

. mlogtest, smhsiao 
 
Small-Hsiao tests of IIA assumption (N=1382) 
 
  Ho: Odds(Outcome-J vs Outcome-K) are independent of other alternatives 
 
                 | lnL(full)  lnL(omit)       chi2    df   P>chi2 
-----------------+----------------------------------------------- 
          StrDem |  -727.367   -692.048     70.639    21    0.000 
             Dem |  -610.636   -573.268     74.736    21    0.000 
           Indep |  -783.456   -747.654     71.604    21    0.000 
             Rep |  -650.962   -615.434     71.057    21    0.000 
          StrRep |  -751.887   -740.193     23.388    21    0.324 
 
  Note: A significant test is evidence against Ho. 
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M == menial job 
B == blue collar job 
C == craft job 
W == white collar job 
P == professional job 

white == white = 1, vs nonwhite 

ed    == years of education 

exper == years of work experience 
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                  |   Freq.   Percent  
------------------+------------------- 
1 Strong Disagree |     297    12.95   
       2 Disagree |     723    31.53   
          3 Agree |     856    37.33   
   4 Strong Agree |     417    18.19   
------------------+------------------- 
            Total |   2,293   100.00 
 

Variable     Mean    Min  Max  Label 
------------------------------------------------------------ 
yr89       .3986044    0    1  Survey year: 1=1989 0=1977 
male       .4648932    0    1  Gender: 1=male 0=female 
white      .8765809    0    1  Race: 1=white 0=not white 
age        44.93546   18   89  Age in years 
ed         12.21805    0   20  Years of education 
prst       39.58526   12   82  Occupational prestige  

. ologit warm i.yr89 i.male i.white age ed prst 
 
Ordered logistic regression                       Number of obs   =       2293 
                                                  LR chi2(6)      =     301.72 
                                                  Prob > chi2     =     0.0000 
Log likelihood = -2844.9123                       Pseudo R2       =     0.0504 
 
        warm |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
        yr89 | 
       1989  |   .5239025   .0798989     6.56   0.000     .3673036    .6805014 
        male | 
       Male  |  -.7332997   .0784827    -9.34   0.000     -.887123   -.5794765 
       white | 
      White  |  -.3911595   .1183808    -3.30   0.001    -.6231816   -.1591373 
         age |  -.0216655   .0024683    -8.78   0.000    -.0265032   -.0168278 
          ed |   .0671728    .015975     4.20   0.000     .0358624    .0984831 
        prst |   .0060727   .0032929     1.84   0.065    -.0003813    .0125267 
-------------+---------------------------------------------------------------- 
       /cut1 |  -2.465362   .2389128                     -2.933622   -1.997102 
       /cut2 |   -.630904   .2333156                     -1.088194   -.1736138 
       /cut3 |   1.261854    .234018                      .8031871    1.720521 
------------------------------------------------------------------------------ 
 
. estimates store olm // to restore estimates after margins, post 

 

q qy q F F



. predict OLMpr1sd OLMpr2d OLMpr3a OLMpr4sa 

. label var OLMpr1sd "Pr(1SD|X)" 

. label var OLMpr2d  "Pr(2D|X)" 

. label var OLMpr3a  "Pr(3A|X)" 

. label var OLMpr4sa "Pr(4SA|X)" 

. sum OLMpr1sd OLMpr2d OLMpr3a OLMpr4sa 
 
  Variable |       Obs        Mean    Std. Dev.       Min        Max 
-----------+-------------------------------------------------------- 
  OLMpr1sd |      2293    .1291898    .0827858   .0078648   .4583639 
   OLMpr2d |      2293    .3152269    .0702155   .0811076   .4066651 
   OLMpr3a |      2293    .3740882    .0585058   .1494467   .4274917 
  OLMpr4sa |      2293    .1814951    .0976008    .018211   .5864362 

dotplot OLMpr1 OLMpr2 OLMpr3 OLMpr4, ylab(0(.25)1, grid gmin gmax) /// 
  title(Model: ologit warm yr89 male white age ed prst, position(11)) /// 
  ytitle(Predicted probabilities at observed values) 

graph export `pgm'-`graphname'.png, width(1600) replace 
 

o
o



o

 
             |      1SD        2D        3A       4SA  
-------------+---------------------------------------- 
1977         |                                         
         Men |    -0.00     -0.00      0.00      0.00  
       Women |    -0.00     -0.01      0.00      0.01  
-------------+---------------------------------------- 
1989         |                                         
         Men |     0.01      0.01     -0.01     -0.01  
       Women |     0.00      0.00     -0.00     -0.00  
-------------+---------------------------------------- 
1977         |                                         
   Men_Women |     0.00      0.01     -0.00     -0.01  
-------------+---------------------------------------- 
1989         |                                         
   Men_Women |     0.01      0.01     -0.01     -0.01 
  

at(yr89=(0 1) male=(0 1))
yr89 male

atmeans
. mtable, at(yr89=(0 1) male=(0 1)) atmeans clear 
 
Expression: Pr(warm), predict(outcome()) 
 
           |     yr89      male      1_SD       2_D       3_A      4_SA 
 ----------+----------------------------------------------------------- 
         1 |        0         0     0.099     0.308     0.413     0.180 
         2 |        0         1     0.186     0.403     0.316     0.095 
         3 |        1         0     0.061     0.228     0.441     0.270 
         4 |        1         1     0.119     0.339     0.390     0.151 
 
Specified values of covariates 
 
           |        1. 
           |    white       age        ed      prst 
 ----------+--------------------------------------- 
   Current |     .877      44.9      12.2      39.6  

i.male dydx(male)

atvars(1.yr89) yr89
 
. mtable, dydx(male) at(yr89=(0 1)) atvars(1.yr89) atmeans  
 
Expression: Marginal effect of Pr(warm), predict(outcome()) 
 
           |        1.                                         
           |     yr89      1 SD       2 D       3 A      4 SA 
 ----------+------------------------------------------------- 
         1 |        0     0.087     0.094    -0.097    -0.085 
         2 |        1     0.058     0.111    -0.050    -0.119 
 
Specified values of covariates 
 
           |        1.                                         
           |     male     white       age        ed      prst 
 ----------+------------------------------------------------- 
   Current |     .465      .877      44.9      12.2      39.6 

. mchange male, at(yr89=0) atmeans brief // DCmale 1977 

. mchange male, at(yr89=1) atmeans brief // DCmale 1989 

mtable, at(yr89=0 male=1)     atmeans rowname(Men)       clear roweqnm(1977) 
mtable, at(yr89=0 male=0)     atmeans rowname(Women)     below roweqnm(1977) 
mtable, dydx(male) at(yr89=0) atmeans rowname(Men_Women) below roweqnm(1977) 
 

mtable, at(yr89=1 male=1)     atmeans rowname(Men)       below roweqnm(1989) 
mtable, at(yr89=1 male=0)     atmeans rowname(Women)     below roweqnm(1989) 
mtable, dydx(male) at(yr89=1) atmeans rowname(Men_Women) below roweqnm(1989) 
 

mtable, dydx(yr89) at(male=1) atmeans rowname(77to89)    below roweqnm(Men) 
mtable, dydx(yr89) at(male=0) atmeans rowname(77to89)    below roweqnm(Women) 
 
Expression: Marginal effect of Pr(warm), predict(outcome()) 
 
            |     1 SD       2 D       3 A      4 SA 
 -----------+--------------------------------------- 
 1977       |                                        
        Men |    0.186     0.403     0.316     0.095 
      Women |    0.099     0.308     0.413     0.180 
  Men Women |    0.087     0.094    -0.097    -0.085 
 1989       |                                        
        Men |    0.119     0.339     0.390     0.151 
      Women |    0.061     0.228     0.441     0.270 
  Men Women |    0.058     0.111    -0.050    -0.119 
 Men        |                                        
     77to89 |   -0.067    -0.063     0.074     0.056 
 Women      |                                        
     77to89 |   -0.038    -0.080     0.028     0.090 
 

Specified values of covariates …  



. sort yr89 male 

. by yr89 male: sum white age ed prst 
 

-> yr89 = 1977, male = Female 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
       white |       718    .8760446    .3297604          0          1 
         age |       718    45.19638    16.59508         19         88 
          ed |       718    11.73816    2.813291          3         19 
        prst |       718    37.38579    13.53379         12         78 
-> yr89 = 1977, male = Male 
  
-> yr89 = 1989, male = Female 
 
-> yr89 = 1989, male = Male  
       white |       405    .8938272    .3084397          0          1 
         age |       405    43.66667    16.98412         19         89 
          ed |       405    13.11358    3.368747          0         20 
        prst |       405    42.16543      14.999         12         82 

if atmeans
mtable if yr89==0 & male==1, atmeans rowname(Men)   /// 
    clear roweqnm(1977)  
 
mtable if yr89==0 & male==0, atmeans rowname(Women) /// 
    below roweqnm(1977)  
 
mtable if yr89==1 & male==1, atmeans rowname(Men)   /// 
    below roweqnm(1989)  
 
mtable if yr89==1 & male==0, atmeans rowname(Women) /// 
    below roweqnm(1989)  
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. mchange, amount(one sd) // see graph that follows 
 

ologit: Changes in Pr(y) | Number of obs = 2293 
 

Expression: Pr(warm), predict(outcome()) 
 

                   |      1 SD        2 D        3 A       4 SA  
-------------------+-------------------------------------------- 
yr89  1989 vs 1977 |    -0.053     -0.064      0.042      0.075  
           p-value |     0.000      0.000      0.000      0.000  
male               |                                             
    Male vs Female |     0.079      0.087     -0.066     -0.100  
           p-value |     0.000      0.000      0.000      0.000  
white              |                                             
 White vs NonWhite |     0.038      0.048     -0.026     -0.059  
           p-value |     0.000      0.001      0.000      0.002  
age                |                                             
                +1 |     0.002      0.003     -0.002     -0.003  
           p-value |     0.000      0.000      0.000      0.000  
               +SD |     0.043      0.038     -0.036     -0.046  
           p-value |     0.000      0.000      0.000      0.000 
ed                 |                                             
                +1 |    -0.007     -0.008      0.005      0.010  
           p-value |     0.000      0.000      0.000      0.000  
               +SD |    -0.021     -0.026      0.015      0.031  
           p-value |     0.000      0.000      0.000      0.000 
  



                 |     1 SD       2 D       3 A      4 SA 
-----------------+---------------------------------------- 
    ADC(male|77) |    0.089     0.081    -0.083    -0.088 
         p-value |    0.000     0.000     0.000     0.000 
  

    ADC(male|89) |    0.062     0.099    -0.041    -0.119 
         p-value |    0.000     0.000     0.000     0.000 
 

ADC(male)/ year |   -0.028     0.018     0.042    -0.032 
         p-value |    0.000     0.000     0.000     0.000 
-----------------+---------------------------------------- 

mchange, amount(one sd) 
 
mchangeplot, min(-.15) max(.15) gap(.05) varlabels /// 
    mcol(blue blue*.7 red*.7 red) ///  
    symbols(D d a A) sig(.05) /// 
    title(AME for OLM, position(11)) /// 
    aspect(.8) leftmargin(.5)  

margins, dydx(male) 
  
marginsplot, recast(bar) ciopts(color(gs5)) /// 
    xlab(0.5 " "      1 `""Strongly" "Disagree""' /// 
         2 "Disagree" 3 "Agree" /// 
        4 `""Strongly" "Agree""' 4.5 " ") /// 
    ylab(-.15(.05).15, format(%4.2f))  /// 
    yline(0) plotopts(barw(0.7) color(blue*.8)) /// 
    xtitle("Working mothers can be good mothers") ///  
    ytitle("ADC comparing men to women") title("") /// 
    scale(1.2) 

. qui mtable, dydx(male) at(yr89=0) rowname(DCmale_77) clear 

. mtable, dydx(male) at(yr89=1) rowname(DCmale_89) below 
 
            |     1 SD       2 D       3 A      4 SA 
 -----------+--------------------------------------- 
  DCmale 77 |    0.089     0.081    -0.083    -0.088 
  DCmale 89 |    0.062     0.099    -0.041    -0.119 

. margins, at(yr89=(0 1) male=(0 1)) post 
 
1._predict   : Pr(warm==1), predict(pr outcome(1)) 
 
4._predict   : Pr(warm==4), predict(pr outcome(4)) 
 
1._at        : yr89            =           0 
               male            =           0 
 
4._at        : yr89            =           1 
               male            =           1 

 

             |            Delta-method 
             |     Margin   Std. Err.      z    P>|z|   Annotated 
-------------+---------------------------------------------------------------- 
_predict#_at | 
        1 1  |   .1085645   .0077007    14.10   0.000  <= out 1: 77 women 
        1 2  |   .1980111   .0116351    17.02   0.000  <= out 1: 77 men 
 
        4 4  |   .1623563   .0111352    14.58   0.000  <= out 4: 89 men 
-------------+---------------------------------------------------------------- 

. lincom (_b[1bn._predict#1bn._at]-_b[1bn._predict#2._at]) /// 
>       -(_b[1bn._predict#3._at]-_b[1bn._predict#4._at]) 
 
 ( 1)  1bn._predict#1bn._at - 1bn._predict#2._at - 1bn._predict#3._at + 
       1bn._predict#4._at = 0 
 
             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
         (1) |   -.027685   .0049492    -5.59   0.000    -.0373854   -.0179847 

. mlincom (1-2)-(3-4) 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
           1 |   -0.028     0.000    -0.037    -0.018 

. qui mlincom (1-2)-(3-4),     rowname(SD) stats(est p) clear 

. qui mlincom (5-6)-(7-8),     rowname(D)  stats(est p) add 

. qui mlincom (9-10)-(11-12),  rowname(A)  stats(est p) add 

.     mlincom (13-14)-(15-16), rowname(SA) stats(est p) add 
 
             |   lincom    pvalue  
-------------+-------------------- 
          SD |   -0.028     0.000  
           D |    0.018     0.000  
           A |    0.042     0.000  
          SA |   -0.032     0.000  



o
o

o

. mgen, at(age=(20(5)80) male=0 yr89=1) atmeans stub(W89) 
 
Variable   Obs Unique      Mean       Min       Max  Label 
----------------------------------------------------------------------------- 
W89pr1      13     13  .0720984  .0364676   .121933  pr(y=1_SD) from margins 
W89ll1      13     13  .0586271  .0281642   .097223  95% lower limit 
W89ul1      13     13  .0855696   .044771   .146643  95% upper limit 
W89age      13     13        50        20        80  Age in years 
W89Cpr1     13     13  .0720984  .0364676   .121933  pr(y<=1_SD) 
W89pr2      13     13     .2465  .1551205  .3431755  pr(y=2_D) from margins 
 
----------------------------------------------------------------------------- 
 
Specified values of covariates 
                              1.                       
     yr89       male      white         ed       prst  
------------------------------------------------------ 
        1          0   .8765809   12.21805   39.58526 
label var W89pr1 "SD" 
label var W89pr2 "D" 
label var W89pr3 "A" 
label var W89pr4 "SA" 

global warmsym "mcol(red red*.9 green*.9 green) " 
global warmsym "$warmsym msym(s sh Oh O) msiz(3.5 3.5 3 3)" // symbol details 

graph twoway connected W89pr1 W89pr2 W89pr3 W89pr4 W89age, $warmsym /// 
    title(Women in 1989, pos(11))  /// 
    subtitle("SA indicates support for working women", pos(11)) /// 
    xtitle("Age") xlab(20(10)80) /// 
    ytitle("Probability") ylab(0(.25).50, grid gmin gmax) /// 
    plotregion(margin(zero) lcol(white)) legend(rows(1)) scale(*1.1) 

graph twoway connected W89Cpr1 W89Cpr2 W89Cpr3 W89age, $warmsym /// 
    title(Women in 1989, pos(11)) $warmsym /// 
    subtitle("SA indicates support for working women", pos(11)) /// 
    xtitle("Age") xlab(20(10)80) yline(1, lcol(black) lwid(*.7)) /// 
    ytitle("Cumulative probability") ylab(0(.25)1, grid gmin gmax) /// 
    text(.035 65 "Strongly disagree", place(e)) /// 
    text(.21 54 "Disagree", place(e)) /// 
    text(.45 40 "Agree", place(e)) /// 
    text(.90 25 "Strongly agree", place(e)) legend(off) /// 
    plotregion(margin(zero) lcol(white)) scale(*1.1)  



o

o



    Variable |      lt2             lt3             lt4           ologit       
-------------+---------------------------------------------------------------- 
Odds ratios  | 

yr89 |      0.381***        0.568***        0.727**       1.689***  
        male |      1.357*          1.995***        2.956***      0.480***  
       white |      1.738*          1.369*          1.481*        0.676*** 
         age |      1.017***        1.026***        1.019***      0.979*** 
          ed |      0.901***        0.949**         0.944*        1.069***  
        prst |      1.001           0.991*          0.994         1.006  
-------------+---------------------------------------------------------------- 

gologit2 ologit

o
o
o

Brant Test of Parallel Regression Assumption 
 
    Variable |      chi2   p>chi2    df 
-------------+-------------------------- 
         All |     49.18    0.000    12 
-------------+-------------------------- 
        yr89 |     13.01    0.001     2  <= these are key variables 
        male |     22.24    0.000     2  <= so I need to check them  
       white |      1.27    0.531     2 
         age |      7.38    0.025     2 
          ed |      4.31    0.116     2 
        prst |      4.33    0.115     2 
---------------------------------------- 
A significant test statistic provides evidence that the parallel 
regression assumption has been violated. 

. gologit2 warm yr89 male white age ed prst, nolog 

. est store gologit2 

. lrtest ologit gologit2, force // force since not estimated with same command 
 
Likelihood-ratio test                                 LR chi2(12) =     49.20 
(Assumption: ologit nested in gologit2)               Prob > chi2 =    0.0000 

o

   Correlation: 0.90    Correlation: 0.92  

   Correlation: 0.86    Correlation: 0.95  

ologit warm i.yr89 i.male i.white age ed prst 
gen warmlt2 = warm<=1 & !missing(warm) 
logit warmlt2 i.yr89 i.male i.white age ed prst 
gen warmlt3 = warm<=2 & !missing(warm) 
logit warmlt3 i.yr89 i.male i.white age ed prst 
gen warmlt4 = warm<=3 & !missing(warm) 
logit warmlt4 i.yr89 i.male i.white age ed prst 

brant, detail 

ologit warm yr89 male white age ed prst 
est store ologitmodel 
gologit2 warm yr89 male white age ed prst, nolog 
est store gologit2model 
* force since compare models from different estimation commands 
lrtest ologit gologit2, force 



ologit warm i.yr89 i.male i.white age ed prst 
predict OLMpr1 OLMpr2 OLMpr3 OLMpr4 
mlogit warm i.yr89 i.male i.white age ed prst 
predict NRMpr1 NRMpr2 NRMpr3 NRMpr4 
pwcorr OLMpr1 NRMpr1 
pwcorr OLMpr2 NRMpr2 
pwcorr OLMpr3 NRMpr3 
pwcorr OLMpr4 NRMpr4 

scatter OLMpr1 NRMpr1 
  

mgen

mchange

   Party ID |      Freq.     Percent        Cum. 
------------+----------------------------------- 
     StrDem |        266       19.25       19.25 
        Dem |        427       30.90       50.14 
      Indep |        151       10.93       61.07 
        Rep |        369       26.70       87.77 
     StrRep |        169       12.23      100.00 
------------+----------------------------------- 
      Total |      1,382      100.00 
 
    Variable |       Obs        Mean    Std. Dev.       Min        Max 
-------------+-------------------------------------------------------- 
       party |      1382    2.817656    1.342787          1          5 
         age |      1382    45.94645    16.78311         18         91 
      income |      1382    37.45767    27.78148        1.5     131.25 
       black |      1382    .1374819      .34448          0          1 
      female |      1382    .4934877    .5001386          0          1 
        educ | 
    hs only  |      1382    .5803184    .4936854          0          1 
    college  |      1382    .2590449    .4382689          0          1 

. ologit party age10 income10 i.black i.female i.educ 
  
Ordered logistic regression                     Number of obs     =      1,382 
                                                LR chi2(6)        =     212.68 
                                                Prob > chi2       =     0.0000 
Log likelihood = -2010.1976                     Pseudo R2         =     0.0502 
 
------------------------------------------------------------------------------ 
       party |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
       age10 |  -.0635915   .0312192    -2.04   0.042      -.12478    -.002403 
    income10 |   .0961097   .0200567     4.79   0.000     .0567993      .13542 

o age10
o income10



Wald tests for independent variables (N=1382) 
 
  Ho: All coefficients associated with given variable(s) are 0 
 
                 |      chi2    df   P>chi2 
-----------------+------------------------- 
           age10 |    43.815     4    0.000  p=.042 for OLM 
        income10 |    22.985     4    0.000  p=.000 for OLM 

o
o

gsem
clonevar partyOLM = party 
clonevar partyMNL = party 

gsem (partyOLM <- c.age10 c.income10 i.black i.female i.educ, ologit) ///  
     (partyMNL <- c.age10 c.income10 i.black i.female i.educ, mlogit), /// 
     vce(robust) 
est store gsemmodel 

 



                |   lincom        se    pvalue  
----------------+------------------------------ 
StrDem          |                               
            OLM |    0.015     0.008     0.064  
            MNL |    0.054     0.010     0.000  
     Difference |   -0.039***  0.007     0.000  
Dem             |                               
            OLM |    0.012     0.006     0.057  
            MNL |   -0.030     0.014     0.028  
     Difference |    0.042***  0.013     0.001  
Indep           |                               
            OLM |   -0.002     0.001     0.099  
            MNL |   -0.026     0.010     0.010  
     Difference |    0.024**   0.010     0.015  
Repub           |                               
            OLM |   -0.015     0.008     0.063  
            MNL |   -0.026     0.013     0.050  
     Difference |    0.011     0.012     0.348  
StrRep          |                               
            OLM |   -0.010     0.005     0.055  
            MNL |    0.027     0.009     0.002  
     Difference |   -0.037***  0.007     0.000 

                |   lincom        se    pvalue  
----------------+------------------------------ 
StrDem          |                               
            OLM |   -0.038     0.008     0.000  
            MNL |   -0.046     0.015     0.002  
     Difference |    0.009     0.013     0.500  
Dem             |                               
            OLM |   -0.029     0.006     0.000  
            MNL |   -0.021     0.016     0.190  
     Difference |   -0.008     0.015     0.619  
Indep           |                               
            OLM |    0.004     0.001     0.001  
            MNL |   -0.003     0.012     0.799  
     Difference |    0.007     0.012     0.554  
Repub           |                               
            OLM |    0.037     0.008     0.000  
            MNL |    0.048     0.013     0.000  
     Difference |   -0.010     0.011     0.363  
 
StrRep          |                               
            OLM |    0.025     0.005     0.000  
            MNL |    0.023     0.008     0.004  
     Difference |    0.002     0.005     0.727  

sum age10 
local mnage = r(mean) 
local sdage  = r(sd) 
local start = `mnage'-(`sdage'/2) 
local end   = `mnage'+(`sdage'/2) 

. margins, at(age=(`start' `end')) atmeans post 
 
1._predict   : Predicted mean (1.partyOLM), predict(pr outcome(partyOLM 1)) 
 
10._predict  : Predicted mean (5.partyMNL), predict(pr outcome(partyMNL 5)) 
 
1._at        : age10           =     3.75549 
               income10        =    3.745767 (mean) 
               0.black         =    .8625181 (mean) 
               1.black         =    .1374819 (mean) 
               0.female        =    .5065123 (mean) 
               1.female        =    .4934877 (mean) 
               1.educ          =    .1606368 (mean) 
               2.educ          =    .5803184 (mean) 
               3.educ          =    .2590449 (mean) 

 
             |     Margin   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
_predict#_at | 
        1 1  |   .1631553   .0100932    16.16   0.000     .1433729    .1829377 
        1 2  |   .1782558   .0118232    15.08   0.000     .1550827    .2014288 
        2 1  |   .3292235   .0137389    23.96   0.000     .3022958    .3561512 
        2 2  |   .3407948   .0143541    23.74   0.000     .3126612    .3689283 
 
        9 1  |   .2686426   .0163059    16.48   0.000     .2366836    .3006017 
        9 2  |   .2425236   .0156883    15.46   0.000     .2117751     .273272 
       10 1  |   .0913318   .0111995     8.15   0.000     .0693812    .1132825 
       10 2  |   .1187061   .0126255     9.40   0.000     .0939606    .1434516 
------------------------------------------------------------------------------ 

qui { 
    mlincom 2-1,            rowname("StrDem:OLM") stat(est se p) clear  
    mlincom 12-11,          rowname("StrDem:MNL") stat(est se p) add    
    mlincom (2-1)-(12-11),  rowname("StrDem:Difference") stat(est se p) add  
 
    mlincom 10-9,           rowname("StrRep:OLM") stat(est se p) add  
    mlincom 20-19,          rowname("StrRep:MNL") stat(est se p) add  
    mlincom (10-9)-(20-19), rowname("StrRep:Difference") stat(est se p) add  
} 
mlincom, stat(est se p) twidth(15) dec(3) /// 
    title("DC age for SD Change at Mean Across OLM and MNL") 
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. ologit warm i.yr89 i.male i.white age ed prst 

. listcoef, help std 
 
ologit (N=2293): Unstandardized and standardized estimates  
 
  Observed SD:  0.9282 
    Latent SD:  1.9411 
 
          |          b        z    P>|z|    bStdX    bStdY   bStdXY     SDofX 
----------+------------------------------------------------------------------ 
     yr89 |     0.5239    6.557    0.000    0.257    0.270    0.132     0.490 
     male |    -0.7333   -9.343    0.000   -0.366   -0.378   -0.188     0.499 
    white |    -0.3912   -3.304    0.001   -0.129   -0.202   -0.066     0.329 
      age |    -0.0217   -8.778    0.000   -0.364   -0.011   -0.187    16.779 
       ed |     0.0672    4.205    0.000    0.212    0.035    0.109     3.161 
     prst |     0.0061    1.844    0.065    0.088    0.003    0.045    14.492 
----------------------------------------------------------------------------- 
       b = raw coefficient 
       z = z-score for test of b=0 
   P>|z| = p-value for z-test 
   bStdX = x-standardized coefficient 
   bStdY = y-standardized coefficient 
  bStdXY = fully standardized coefficient 
   SDofX = standard deviation of X. listcoef, help std 
 

                 b         z     P>|z|    bStdX    bStdY   bStdXY     SDofX 
----------+------------------------------------------------------------------ 
   1.yr89 |   0.52390    6.557   0.000   0.2566   0.2699   0.1322    0.4897 

                 b         z     P>|z|    bStdX    bStdY   bStdXY     SDofX 
----------+------------------------------------------------------------------ 
      age |  -0.02167   -8.778   0.000  -0.3635  -0.0112  -0.1873    16.7790 

                 b         z     P>|z|    bStdX    bStdY   bStdXY     SDofX 
----------+------------------------------------------------------------------ 
      ed |   0.06717    4.205   0.000   0.2123   0.0346   0.1094     3.1608 
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ologit (N=2293): Factor change in odds  
 

  Odds of: >m vs <=m 
 

             |          b        z    P>|z|       e^b   e^bStdX     SDofX 
-------------+----------------------------------------------------------- 
  yr89: 1989 |     0.5239    6.557    0.000     1.689     1.292     0.490 
  male: Male |    -0.7333   -9.343    0.000     0.480     0.694     0.499   
white: White |    -0.3912   -3.304    0.001     0.676     0.879     0.329 
         age |    -0.0217   -8.778    0.000     0.979     0.695    16.779 
          ed |     0.0672    4.205    0.000     1.069     1.237     3.161 
        prst |     0.0061    1.844    0.065     1.006     1.092    14.492 
------------------------------------------------------------------------- 
       b = raw coefficient 
     e^b = exp(b) = factor change in odds for unit increase in X 
 e^bStdX = exp(b*SD of X) = change in odds for SD increase in X 
   SDofX = standard deviation of X 
 

             |          b        z    P>|z|       e^b   e^bStdX     SDofX 
-------------+----------------------------------------------------------- 
        yr89 | 
       1989  |     0.5239    6.557    0.000     1.689     1.292     0.490 

             |          b        z    P>|z|       e^b   e^bStdX     SDofX 
-------------+----------------------------------------------------------- 
        male | 
       Male  |    -0.7333   -9.343    0.000     0.480     0.694     0.499 

        warm |      b         z     P>|z|    e^b    e^bStdX      SDofX 
-------------+-------------------------------------------------------- 
         age |  -0.02167   -8.778   0.000   0.9786   0.6952    16.7790 
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Odds of:   OLM   GOLM   |  Odds of: MNLM 
-------------------------------------------------------------- 
SD vs D+I+R+SD  0.89**  0.81***   |  SD vs D 1.25*** 
SD+D vs I+R+SD  0.89**  0.94*   |  D vs I  1.07 
SD+D+I vs R+SD  0.89**  0.99   |  I vs R  0.94 
SD+D+I+R vs +SD  0.89**  1.14**   |  R vs SR 0.82*** 
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. use hrs-gme-analysis2, clear 
(hrs-gme-analysis2.dta | Health & Retirement Study GME sample | 2016-04-08) 
 
. codebook diabetes female hsdegree age white bmi weight height, compact 
 
Variable     Obs Unique      Mean       Min      Max  Label 
------------------------------------------------------------------------------ 
diabetes   16071      2  .2047166         0        1  Respondent has diabetes? 
female     16071      2  .5684774         0        1  Is female? 
hsdegree   16071      2  .7624914         0        1  Has high school degree? 
age        16071     49  69.29276        53      101  Age 
white      16071      2  .7715761         0        1  Is white respondent? 
bmi        16071   2469  27.89787  10.57755  82.6728  Body mass index 
weight     16071    258  174.9041        73      400  Weight in pounds 
height     16071     37  66.28847        48       89  Height in inches 
------------------------------------------------------------------------------ 

kg lb

m in

weight weightBMI
height height

logit diabetes c.bmi i.white c.age##c.age i.female i.hsdegree 
estimates store Mbmi 

logit diabetes c.weight c.height /// 
     i.white c.age##c.age i.female i.hsdegree 
estimates store Mwt 

    Variable |   Mbmi         Mwt      
-------------+------------------------ 
         bmi |    1.1046*               
             |     0.000               
      weight |                1.0165*   
      height |                0.9299*   
             |  
       white | 
      White  |    0.5412*     0.5313* 
 
         age |    1.3091*     1.3093*   
 c.age#c.age |    0.9983*     0.9983* 

 
-------------+------------------------ 
         aic |  14937.47    14920.55   
         bic |  14991.26    14982.03   
-------------------------------------- 
Note: # significant at .05 level; * at the .001 level. 

. estimates restore Mbmi 
 
. mchange bmi white 
 
logit: Changes in Pr(y) | Number of obs = 16071 
 
Expression: Pr(diabetes), predict(pr) 
 
                    |    Change    p-value  
--------------------+---------------------- 
bmi                 |                       
                +SD |     0.097      0.000  
white               |                       
 White vs Non-white |    -0.099      0.000  

margins, at( bmi = gen(bmi) ) 

bmi
margins, at( bmi = gen(bmi + 1) ) 

quietly sum bmi // summary statics 
local sd = r(sd) // retrieve standard deviation 
margins, at( bmi = gen(bmi + ‘sd’) ) 

margins, at( bmi = gen(bmi) ) at( bmi = gen(bmi + 1) ) 

Expression   : Pr(diabetes), predict() 
 
1._at        : bmi             = bmi 
2._at        : bmi             = bmi+5.770835041238605 
 
             |            Delta-method 
             |     Margin   Std. Err.      z    P>|z|     [95% Conf. Interval] 
-------------+---------------------------------------------------------------- 
         _at | 
          1  |   .2047166   .0030338    67.48   0.000     .1987704    .2106627 
          2  |   .3017056    .005199    58.03   0.000     .2915159    .3118954 
------------------------------------------------------------------------------ 

. mlincom 2-1, stats(all) 
 
             |   lincom        se    zvalue    pvalue        ll        ul  
-------------+------------------------------------------------------------ 
           1 |    0.097     0.004    27.208     0.000     0.090     0.104 



logit diabetes c.weight c.height /// 
    i.white c.age##c.age i.female i.hsdegree 
estimates store Mwt 

o
o

. qui estimates restore Mwt 
 
. mtable, gen(PRadd) /// 
>     at(weight=gen(weight)) at(weight=gen(weight+25)) post 
 
Expression: Pr(diabetes), predict() 
 
           |    Pr(y) 
 ----------+--------- 
         1 |    0.205 
         2 |    0.271 
 
. mlincom 2-1 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
           1 |    0.067     0.000     0.062     0.071 

. mtable, gen(PRpct) /// 
>     at(weight=gen(weight)) at(weight=gen(weight*1.14)) post  
 
Expression: Pr(diabetes), predict() 
 
           |    Pr(y) 
 ----------+--------- 
         1 |    0.205 
         2 |    0.273 
 
. mlincom 2-1 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
           1 |    0.068     0.000     0.063     0.073  

. qui estimates restore Mwt 

. mtable, at(weight=gen(weight)) /// observed 
>         at(weight=gen(weight+25)) /// + 15 
>         at(weight=gen(weight*1.14)) post // + 14% 
 

Expression: Pr(diabetes), predict() 
 

           |    Pr(y) 
 ----------+--------- 
         1 |    0.205 
         2 |    0.271 
         3 |    0.273 
 

. qui mlincom (2-1),         rowname(ADC add) clear 

. qui mlincom (3-1),         rowname(ADC pct) add 

.     mlincom (2-1) - (3-1), rowname(Difference) add dec(5) 
 

             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
     ADC add |  0.06659   0.00000   0.06197   0.07120  
     ADC pct |  0.06801   0.00000   0.06332   0.07271  
  Difference | -0.00142   0.00000  -0.00163  -0.00122 

margins

o
o



. regress weight c.height##c.height, noci 
 
           weight |      Coef.   Std. Err.      t    P>|t| 
------------------+--------------------------------------- 
           height |  -6.338708    1.61073    -3.94   0.000 
                  | 
c.height#c.height |   .0855799   .0120867     7.08   0.000 
                  | 
            _cons |   217.5991    53.5548     4.06   0.000 
---------------------------------------------------------- 

. scalar b0 = _b[_cons] 

. scalar b1 = _b[height] 

. scalar b2 = _b[c.height#c.height] 

weighthat = b0 + b1*height + b2*height#height 

. qui estimates restore Mwt 

. mtable, post commands /// 
>     at(height=gen(height) weight=gen(weight))              /// observed 
>     at(height=gen(height+6)                                /// height + 6 
>        weight=gen(b0 + b1*(height+6) + b2*((height+6)^2))) //  => weight 
 
Expression: Pr(diabetes), predict() 
 
           |    Pr(y) 
 ----------+--------- 
         1 |    0.205 
         2 |    0.208 
 
. mlincom 2-1 
 
             |   lincom    pvalue        ll        ul  
-------------+---------------------------------------- 
           1 |    0.004     0.601    -0.010     0.017 

lb

in

weight weight height height
height

o

generate heightinv = 1/height 
label var heightinv "1/height" 
generate factor = 703 
label var factor "scale factor to convert from metric" 

logit diabetes c.factor#c.weight#c.heightinv#c.heightinv /// 
    i.white c.age##c.age i.female i.hsdegree 
estimates store MbmiFV 
logit diabetes c.bmi i.white c.age##c.age i.female i.hsdegree 
estimates store Mbmi 

    Variable |    Mbmi        Mbmifv     
-------------+-------------------------- 
    c.factor#| 
    c.weight#| 
c.height_inv#| 
c.height_inv |              1.1045533 
             |                 
         bmi | 1.1045533                
             |                 
       white |                 
      White  |  .5411742     .5411742   

weight
. qui estimates restore Mbmifv 
 
. mchange weight, amount(sd) delta(25) 
 
logit: Changes in Pr(y) | Number of obs = 16071 
 
Expression: Pr(diabetes), predict(pr) 
 
             |    Change    p-value  
-------------+---------------------- 
weight       |                       
      +delta |     0.065      0.000  
 
Average predictions 
 
             |        No   Diabetes  
-------------+---------------------- 
  Pr(y|base) |     0.795      0.205  
 
1: Delta equals 25. 

o
o




